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Trigonometric Functions Section 4.1 ultiple Cholce Homework
1 Inthe figure rsind equals
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2. The vertical distance betwesn the minimum and
maximum values of the function y=|~/2sin V318
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3. sin™ (008100')= -10°
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(a) 1.0
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x=3sin0
The graph of the curve represented by { y=35in8 }l
x=Y
(e) allne -
(b) a horizontal line segment but “3ew <3
(c) acircle
d) aline segment 3 units long pa - v
)a line segment with slope 1 . ;
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}q\“& )E( What is the amplitude of the graph of y = acosx+ bsinx ?

Y -

b - ‘
(e) % A= , a"'.{bi‘l- — Prveda R amrlM
(b) a+bd X UISS*‘MOQL: ‘gﬁ’ a=2 QI\A b 3
(©) Jab = NN Y= 3.606
@ +b* ble V22432 ~ 3.606 " : MGN =3.606
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Trigonometric Functions Section 9.2 uitiple Cholce Homewo
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1.  hatlgthe smallest' sltlve - Intercept of the graph of y= 3sin2(x+%) ?

35(n. ;lv )-r x= %'Z%t%n

@0 ‘am«@u— 4 0
¢ 1.0 2 50 ¥Y=-z2. [-.% 049
(e)1:31 ﬁm- Otm

Xt 2"%’tm

2. The smalle oslﬂ - ue of x satisfying the equation tanSx =-2Is closest to

_ 5= 4an—'(-2)
(a) 13° I 7‘(03-4’3501 190°a
b) 31°
» (c; K= -12,683°% 3°n
(d) 49
(e) 63 F-12.687° 23.412°
3 As xincreases from --to 3—” . the value of cosx
(a) ys increases
(b) elways decreases
creases then decreases
) decreases then Increases
(e) does none of the above
= gecO
@x‘& ~ The graph of the curve represented by { = cosf }Is
=4
(a) alline 5 x = w)
b)ah rbola - -
zc)anelllpse ‘é‘jﬂ y XFlor x -

line segment .
portion of a hyperbola Use parametric M m
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8. The figure below shows the graph of y=sin3x What s the value of at point P?
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(e) 67

Sin3X=0
3 = 201:%
X= 0t
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